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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2011

ELECTIVE COURSE : ECONOMICS
EEC-01 : FUNDAMENTALS OF

ECONOMICS
Time : 3 hours Maximum Marks : 100
(Weightage 70%)
Notes :  Answer any two questions from section - A,

our questions from section - B and all
q {

questions from section - C.

SECTION - A
Answer any two questions from this section in about
500 words each : 2x20=40
1. (a) Explain how a discriminating monopolist
reaches equilibrium.
(b) Suppose the demand curves faced by the
discriminating monopolist are.
q,=100-p, and q,=100-2p,
If the marginal cost is constant at Rs. 20.
Find profit maximising price.

2. Explain the concepts of marginal revenue product
and marginal value product.
Show that total product is exhausted when factors
are paid according to their marginal products in
perfect competition.
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3.  Explain how equilibrium output and price are
determined in the keynesian model ?

4, What is meant by balance of payments ? What

are its components ? Explain why balance of
payments always balances ?
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SECTION - B
Answer any four questions from this section in
about 250 words each : 4x12=48
5. Explain the concept of IS curve. What are the
factors that influence the shape of the IS curve ?

6. Explain the relationship between inflation and
unemployment. Is the relationship stable in the
long-run ?

7.  Explain how a monopolistic competitive firm

reaches equilibrium. Can the firm reap profit in
the long run ?

8. Explain the roles of household firm and
government in the circular flow of income.

9.  Explain the concept of public good. How does it
differ from a merit good ?

10. Explain the conditions under which a perfectly
competitive firm will stop operation.
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SECTION - C

Answer all the questions of this section in about

100 words each : 2x6=12
11. Write short notes on any two of the following :

(a) CGiffen goods

(b)  Investment multiplier

(c) Marginal propensity to consume

(d) Terms of trade

12. Distinguish between any two of the following :
(a)  Cost push and demand pull inflation
(b)  Fixed cost and variable cost
{c)  Gross Domestic Product and Net Domestic
Product.
(d) Income Effect and Substitution Effect.
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